ln Worlds E'deﬂv day obse"ved on
A. 1“ octobtr

8. 1t November

C. 1™apr

D. 1 May

Acrophobia is the fear of

A. Water

B. Place
C. Blood
D. Height
3. Human Rights pay is 0b
A. 1" December
B. 10™ December
C. 12" December
D. 15" December
4. Who among the following: W
A. Abdul Wali Khan
B. Abdul Ghaffar Khan
C. Mohammad Ali Jinnah
- o?
5. \l:lh:::la:f'at:: :::wing organization is nOt under UN
A. OPEC
B. WHO
C. UNESCO
D. IO
6. The Minimum Wages Act was first enacte
A. 1948
B. 1956
C. 1960
D. 1952
7. Vishakha Judgment is a set of guidelines to deal with the cases of
A. Domestic Violence
g. Transgender concerns
C. Manual Scavenging
pD. Sexual Harassment

8. Which article of Indian Constitution provides materni
e 40 ty Leave for women?

g, Article 41
C. Article 42
D. Article 44
g, Catharsis means
A. Ventilation
B. Psychoanalysis
C. Behavioral Modmtition
p. Problem solving

z.

erved ON

hi?
¢ known @s Frontier Gand
a

d in the year

mA. (Soctal WOr) Butragee p .
On-ZQIE /Sen
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8 Human Poverty Index is developed by
A. World Bank
B. WHo
C. UNDP .
D. UNICEF ayati ral
11. Who among the following suggested two tier systems for panchay
A. Balwantrai Mehta
B. Ashok Mehta
C. Vasantrao Naik
D. None of the above
12. The 1857 first war of Independence is also called
A. Salt Satyagrah
B. Quit India Movement
C. Civil Disobedience
D. Indian Mutiny
13. Who is considered as the father of idealism?
A. Plato
B. Hegel
C. Berkely
D. Green
14. In which year India ratified International Covenant on Economic, Social and Cultural Rights?
A. 1966
B. 1968
C. 1976
D. 1979
15. India’s first transgender school “Sahaj International” has started in which state?
A. Tamil Nadu
B. Kerala
C. Karnataka
D. Andhra Pradesh
16. Education is a powerful instrument of:
A. Social transformation
B. Personal transformation
C. Cultural transformation
D. Allthe above
17. National Policy for Senior citizens was made in the year
A. 2012
B. 2009
C. 2011
D. 2013

18. Which Article of the constitution makes the Right to Education a Fundamen
A. Article 19
B. Article 39
C. Article 21A

D. Article 51A

tal Right?
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19. Which is regenerativé e
A. Pancreas
B. Kidney
C. Lever
D. Lungs

20. Sardar Sargver dam Is 1°€
A. Mahanandi
B. Godavari
C. Ganga
D. Narmada

21. Which one of the followin t
A. Oak

Pine

Neem

Teak

. jue?
na' va
medic!
rees has

B.
C.
D.

22. Slums in metro-city are the result of:
A. Rural to Urban migration
B. Urban governance
C. Lack of urban infrastructure
D. None of the above

23. The Sachar Committee wWas forme
conditions of
A. SC
B. ST
C. 0BC
D. Muslims

din 2005 to report ont

he social, economic and educational

24. Among which tribal group in India is matrilineal practice followed?

A. Khasi
B. Bhil
C. Mina
D. Garasia

25, Which country will host the 8" edition of FIFA Women's
A. China
B. Russia
C. Germany
D. France

26. The first movement launcheg against the Br|
A. Non-Cooperation Movement

Quit India Movement

swadeshi Movement

B.
o
p. Khilafat Movemen,

_ _tal WOTK)/ Bt

itish in India wag

World Cup in 20197

Scanned by CamScanner



?
27. Who discovered 012" systerm

A. Galileo
B. Copernicus
C. John Hadley
D. Newton
28. A doctor studie
classified as
A. Ethnography
B. Experimental research
C. Case study
D. Descriptive study
29. Who is the first Asian Winner of N
A. Rajiv Gandhi
B. Mother Teresa
C. C.V.Raman
D. Rabindranath Tagore
30. Vikram Sarabhai Space Centre is located at
A. Ahmedabad
B. Pune
C. Thiruvananthapuram
D. Sriharikota
31. Sanchi Stupa is located near
A. Bijapur
B. Varansi
C. Bhopal
D. Gaya
32. ‘United Nations Day’ is observed on
A. 24 September
B. 24 October
C. 24 November
D. 24 December
33. Business organizations should feel concerned with social responsibility because they
A. Can make huge profit
B. Can be more efficient
C. Can compete in better way
D. Are the part of society
34. Which of the following indices is developed to measure life expectancy, level of literacys
and standard of living of the people in a country
A. Inflation
B. Sensex
C. HDI
D. SLR

drugs of dengué fever. FIs research woyg

obel Prize?

education
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ands £ .
' refor

nte'rnatio““ Convention o7 scientific gector

'"dIan Council of social science

Onhesian committee ON service

37. " NONe of the above
:'-‘e Dr. ,;;Tu"‘ins Po‘ints' was authored bY
B. Dr.ap Amohan Singh
c. Dr. J Abdul Kalam
D. N - C. Radhakrishanan
© one of the above
38. Which among the following is "ot 2
A. Observation ~~
B. Referral .~
C. Interview - y
D. Questionnaire
39. The major source of the pollutant 8
A. Thermal power sector
B. T[ansport sector
C. Industrial sector

D. Domestic sector

jenti
s Researc

sector peforms

primary source of data collection

as, carbon mono-oxide, in urban areas is

40. Name the Mass medium which has the highest reach in India
A. Internet
B. Television
C. News Paper
D. Radio
41. Which of the following is not a computer language
A. PASCAL
B. UNIX
c. FORTRAN
p. COBOL
42. Choose the odd word
A. Nun
. Knight
C. Monk
p. Priest
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as A_[SOC

estlons’ varlOllS tel'ms of an alphabet

llowing qu
each of the following (7) Choose the missing terms

Direction (Q no 43 to 45): In issing as shown by

Series are given with one or more terms m
out of the given alternatives.

43, AZ, GT,MN, —? YB
A. KF
B. RX
C. SM
D. TS .

44, AZ, CX, FU, ——?
A. IR
B. IV
C. Ja
D. KP

45. AZ, BY, CX, R¥.—-?
A. EF
B. GH
cC u
D. DW

46. A person has to buy apples and mangoes,
Rs.5, if the person has Rs.28, the number of apples he can buy is

the cost of one apple is Rs. 7, where as that of mango is

A1
B. 2
C. 3
D. 4
47. in a certain code, FHQK means GIRL, how will WOMEN be written in the same code?
A. VNLDM qIRL
B. FHQKN

C. XPNFO

D. VINDM
48. In certain code TEACHER is written as VGCE JGT. The code of children will be

A EﬂﬂJ‘FTGP Tea Cher c_\““v\

B. EJKNFTGP

C. KNJFGTP

D. None of these
49. What wnll be the next letter in the following series

FGy S, meeenn?
A. AKPO' NV)N t3k
B. JBYZ

C. JIRQ

D. LMRS
50, If A is the son of Q, Q and Y are sisters, Z is the mother of Y,P is the son of Z, then which of the
, N

following statement is correct
A. P isthe maternal uncle of A
p and Y are sisters

A and P are cousins

None of the above

B.
C
D

a1 Work)/ Entrance Examination-2018 /Set A
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D. Major ?
at grouP
53. Find out the one which does not pelong to that g
A. America: Dollar
B. Kuwait: Dinar
C. Australia: Pound
D

. Japan: Yen

. . uence:
54. Arrange the words given below in 2 meaningful seq

n 3 Arrival 4 Discussion SM

1 presentation 2 Recommendation 5 ATTZ=— @
A. '5,3,4,|,2 @ - e @ @
B. 354,21
C. 3514,
D. 531,24

S5. Statements: In one day cricket match, the total runs made by team were 200, out of these 15
runs were made by spinners.
Conclusion: 1. 80% of team consist of spinners

I1. The opening batsman were spinners

Only conclusion | follows

Only conclusion Il follows

Eitherlor i

. Neither I norli

56. Statement: The old order changed yielding place to new.
Conclusion: 1. Change is the law of nature.

Il. Discard old ideas because they are old.
. Only conclusion | follows,

A

B. Only conclusion Il follows,
C. Eitherlor |l follows.
D

. Neither | nor Il follows.
57. An informal gathering occyrs when a

situation below is the best example o I gath
A. The friendsc| atherin
. Afierfodin ::t Meets or.z the first Thursday evening ofg?

. about his Promotion, Je SVery month. jner o

work. Y and few Co-workers ¢ ut for giner®
i 0

C. Mary sends out 20 invitat scdetoge
D. None of the aboye

OoNw®p

group of people

. What
fan informa B¢t together in a casual relaxed me"™

ions for the b
e bridal show, she is Organi Sunday eVt e
ing on Sunda
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:ves, choose
four alternatiVe® the one which oqy

. are

Directions: (Q 58 t© Q 60)- Gm:ls below

e O € & for the given WOrdS: L ying of rules-
58. The part of Government which is concern

A. Court

B. Tribunal

C. Bar

D. Legislature
59. The practice of h

A. Polygyny

B. Polyphony

C. Polyandry

D. Polychromy
60. A paper written by hand.

A. Handcraft

B. Manuscript

C. Handiwork

D. Thesis
61. Choose the correct spelling

A. Amatuer

B. Amature

C. Amateur

D. Ameteur
62. Find the mis-spelt word:

A. Annex

B. Aniversary

C. Animate

D. Animosity
63. Mania for stealing articles

A. Hypomania

B. Kleptomania

C. Logomania

D. Stelomania
64. A Government run by a dictator is termed as

A. Autocracy

B. Democracy

C. Oligarchy

D. Theocracy

aving more than one husband at same time.

Direction: (Q 65 to 66): Choose the Synonyms

65. Kin
A. Exult

B. Twist
c. Friend
p. Relative
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66. Predict
A. Forete)
B. Decide
C. Pre\,'ent
D. Discover
67. During the holiday seaso™ the—"
A.  Controversial
B. Mitigated
C. Prevalent

D. Prestigious osite in meaning
68. Choose the word which is most °PP

A. Disobey
B. Contradict
C. Reject
D. Obscure
69. Find most opposite word of COERCIVE:
A. Progressive
B. Promoting

C. Opinionated
D. Gentle

70. Select the Odd one out
A. Court
B. King
C. Palace
. Radium .
71, Zhe faile: because her answers were not-——---10 the questions asked.
A. Incidental
B. Impertinent
C. Referential
D. Relevant
72. Identify the meaning of the given idiom. “To live in fool’s Paradise”.
A. To be clear
B. To create a stir
C. To have an absolutely false conception
D. To get fairly involved,
73. Identify the antonym of the given word: Embellish
A. Indict
B. Forfeit
c. Sacrifice
p. Disfigure
74. Choose the word nearest in meaning to CONCEAL
A. Unfold
B. Hide

d will toward all’,
Earth; Goo
lpeace on

.....
------
-

Cc. Open
p. Discover

v
4
)
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75. One who loves mankind is called.
A. Optimist
B. Truant
C. Optometrist
D. Philanthropist

Directions: (Q76-Q78): In these questions, fill in the blanks meaningfully from ghe o termatives
given \
76. Some people ----— from voting at the last elections
A. Defied
B. Abstained
C. Refused
D. Declined
77. The thieves quarreled among them -——---the division of booty.
A. About
B. In
C. Above
D. On
78. Bread and butter ——-—the minimum one needs.
A. Are
B. Hasbeen
C. Have been

D. Is
79. The recent natural calamities not only produced causalities, it also triggered, emergency relief

intended to address the life- threaten problems of survivors.( do the correction)

A. And it also triggered
B. And also it triggered
C. But they also triggered
D. But also they triggered
80. As a child she was looking plainly but now she has turned out remarkable pretty.(do the correction)
A. Looked plainly
B. Is looking plain
C. Looked plain
D. Had looked plainly

4., (Social Work)/ Entrance Examination-2018 /Set A
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